compulso HoWever, there are internal ch01ees in some questlons
(u) Section A has 18 MCQ's and 02 Assertlon-Reason based questlons C

each.

(iv) Sectlon C has 6 Short Answer (SA) type questlons of 3 marks each.
; (v) Sectlon Dhas 4 Long Answer (LA) type questlons of 5 marks each.

~ \ as,s_ssment (4 marks each) w1th sub parts

_ : SECTION-A ;
12 Two finite setsAandB are such thatA & B then Wthh of the followmg lsno
_ ~correct‘? S ; &

R@aUB=B i OPARB- A58

() AB=¢ | (d)/B ae g
A Ifn(AUB)=18, n(A-B)= 5 n(B—A) 3, then n(AﬂB) is:
ey RS SRR 1) (T

(C) 5 1 é S0 12"“

B3 Thevalu'eof taln—l-z—7t is JH.Value of ‘m’is:
e T M VR ) 5 4
sz : @ s | '







thch of the followmg isan empty se
(a) {x XeR X 1—0} e &U{{X" &
(c) {xixe R,x2—4—0} HE(0) {x x eR,x —X—
13 ‘Number of relatlons that can be deﬁned on the setA {é, b cxd:
(a) "2 Qe e () e 3

T (CIRTOM /e (e ok o
14, Thestandardform1‘9 2177+ 6 is A AR
(@ 6+2i 7 R ' -Qb)'>6+i"
) SR T ‘(d_)-s'i’ﬂ. :
\ RIS ifr=(il )2then|z|—- | -
L) 10 . W s o _(b) Noneofthese
| @©) 8 S AT .
N 11-_6. The total number of terms in the expansmn of (1+x)‘°°7 \x‘°°‘. 1s
S T e
| B0 o o (OBIOUEE
1. Thevalueofc0563ms 0 B
i S 10T
(c) 0 NN __../ B Nk (d) _1 .

'.:,18:' Value 0f \/-3_ cose020 —sec20° is:

ot e @4 :
Questlon ﬁumbers 19 and 20 are Assertlon and R.eason




Fe o [ 4 |
' (a) Both Assertion (A) and Reason (R) ar¢ true and Reason (R) is the co
~ explanation of Assertion (A). ;
(b) BothAssertion (A) and Reason (R) are true and Reason (R) is not the con"ect‘
explanation of Assertion (A). |
(c) Assertion (A) is true but Reason (R) is false.
- (d) Assertion (A) is false but Reason (R) is true.

19. Assertion (A): T—_-{

X+5_5_4x_40} thenTlsanemptyset g 188
X= TN 3 =X
Reason (R) : A set without any element is called an empty set.
20. Assertion (A) : If**C, ,=2%C_ then sum ofall posmve values of X is677.
'Reason(R) R C: —“C thenx yorx+y no T | 1
SECTIONB -~ = 2%5=10

21. IQofa person is given the formula Q = CA x100; Where MA is mental age and 54

. CAischronological age If 80 < IQ <140 fora group of 12 year chlldren fmd the

range of mental age, - il i 2 4
2. Which is larger (1 01)‘°°°°°° or 10 000 2 Show the steps of the solution. = .
(23. Iftan(A+B)=pand tan (A-—B) q then prove that tan 2A = 1p—+q1 2
D] : '

2. LetA={4]9, 16, 25, 36}, B iR 4} IfR is the relation "is square of" from
set A to the set B, write the set Corresponding to the relation R. Write the roster
form of R. Also find the domam co-domain and the range of R. 75

IfA={x:x e R, xis the root |
of the equation x3*—x = ) B
ot Ofx3+2x2—x q It {X:xeR, xis the

—2=0}. Then fipq the values of (i) A J B (i)ANB

25

2
-26.  Using binomial theorem pr IO ' e
e » F10Ve that 6"—5n—1 is divisible by 52, for allneN
OR | o

&;} do il : T =ni ALK diin









‘ '(1) F md the value of s1n 26
(u) Find the value of cos 20.




